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Al E GHED| =FH2A 212N 10,020
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201 B2 A Y| 759,922 752,620 7,302
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— 24 HUAF SRE SIS 7Y
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~STAUASE, Al+YY 2olSE
FY(ESHES AMSE AE S)
80,0002 +122 960
—RZAIF BASE FY(ZTHEE,
JMESE OUAE S) 300,00021 * 14! 300
—STUUMSZ TAA SHEABAL
BIIAAN 248 400,0002 *13] 400
—JIAMNBAE SHEFYI BHEE 4+
] 2,000,000 *13] 2,000
~UET HINBN 222
25,0002 *4CH 23] 200
— 2B NI 30,0002 #4TH 122 1,440
—HA89 42 400,0002! 43| 1,600
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02 T2 681,593 690,276 8,683
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HEAL2e ) 2 (2L 22 /HS)
HEALES 2el
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& 1 = 0f 4 o

SN EZH .- (3H) - HRAY - BE=2 (Z= o) (713 o) HwES2Z
BB (S ML)
150,0002 *2CH + 12 3,600
202 O 2,700 2,530 170
01 2uoibl 2,700 2,530 170
= 0f & 2,700 2,530 170
OMSAL QXN K2 23 L HAX
218t 150,0002 %22 *93| 2,700
206 2l 60,000 60,359 A 359
01 M2l 60,000 60,359 A 359
= 0fl & 60,000 60,359 A 359
OAH+E I 26,000,000 *14] 26,000
OLIABTH M2l 4,000,0002 *14! 4,000
OMSAE 2E WaHl  30,000,0002 14 30,000
307 QI2H0IF 50,000 50,000 0
05 IRtz 50,000 50,000 0
= 0fl & 50,000 50,000 0
ORF4 FRMDIAZTE DA
50,000,000 *14] 50,000
SEIYPAZXZ2A0/LHEH 29 61,230 61,230 0
201 Yol 3,000 3,000 0
01 At el 3,000 3,000 0
= 0f & 3,000 3,000 0
ORF4 ZRS2H0IYME LY ZEX
of Tyl AX2 500,0002 *63] 3,000
307 QI2H0IF 58,230 58,230 0
05 I2telEra 58,230 58,230 0
= 0fl & 58,230 58,230 0
ORF4 2RS40/ AME 2I29|eta
58,230, 0008 *14] 58,230
MEAL =l 602, 150 690,000 87,850
= 50,000
Al 552,150
MEAE s 22 602, 150 690,000 A87,850
= 50,000
Al 552, 150
401 AlEZHIL2 0 602, 150 690,000 A87,850
= 50,000
Al 552,150
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01 Al&HI 602, 150 690,000 87,850
= 50,000
Al 552, 150
= 0 4t 602, 150 690,000 87,850
= 50,000
Al 552,150
OMUASZ 2 =¥ MSALS 9K 2
o2 %t 214,200,000 * 14! 214,200
OMU+EE |1 2 HE2t]
196,650,000 * 14! 196,650
ORFM MSANLE 91 L Hes
114,300, 000! * 14! 114,300
OXMSAIE paExe 2 S3=27|
27,000,000% *14] 27,000
OSETINTMIAZTE OIAMAEZH
50,000,000% *14] 50,000
= 50,000
HY2FZH (MSAE 22l 0H)(I1EHDIE) 122,087 124,287 A2,200
oz 2 Ul (MK A& 22ID) 40,527 40,527 0
IA2HHI(MSAE 2 L) 40,527 40,527 0
101 QI24] 40,527 40,527 0
01 =24 40,527 40,527 0
=0 &t 40,527 40,527 0
Ofgzesy 80,4092 142 x362 40,527
=B (S A& 22l D) 81,560 83,760 A2,200
SIEEENCENEETE R 81,560 83,760 A2,200
201 LBt 42,560 42,960 A400
01 AtR2reltl 42,560 42,960 A400
=0 &t 42,560 42,960 A400
OYsr&g| 7,200
AR B EY 10,0002 * 142 1,400
28288y 50,0008 *13] 150
—HET ARA AN2RIII AXE
160,00021 *1CH#123] 1,920
—=ANEX 7Y 23,0002 ¥55 A+ 128 1,380
—doN ZRE 4 P
237,0002 *3CH x23l 1,422
—2EN BUMRA ARSI YRE
44,0002 122 528
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SA B S(BH) - MEMY - BES iz T BlRE2
-9 ADHMYH(STLUAS 2, R
EEDIE) 50,0002 %204 4 *43] 400
osg4+g 24,200
-2, =5y 50,0008 *1% 4842 24,200
o2zl 9,760
—AAYT MH22SX A
8,000% +2% 3002 4,800
—HSAE 2HBHE L BAEH S204
Ayl 8,000%! 142 x35/ 102 3,360
—AUSYE 0F A2 A
8,000% *4% +1002 *50% 1,600
o=t 1,400
— Y LAN(AE)TL 350,000%! +4% 1,400
202 OfHl 36,000 36,000 0
01 =Uhoibl 36,000 36,000 0
=004 36,000 36,000 0
OXMSAE J2gR4a8 21401yl
20,0002 *15% %103 * 122 36,000
203 YLEIHI 3,000 4,800 ~1,800
04 EHSYLFAL 3,000 4,800 A1,800
=0 & 3,000 4,800 ~1,800
OXME A& 22 B 250,000 +122 3,000




